Footrest Assembly

Frame Shown for
Reference Only



Footrest Assembly

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

1 A 1179363-NLA | NLA - Kit, Footrest Assembly 1 1
2 Footplate 1 1
3 Footrest Support 1 1
4 Plug Button, Black (1" Square) 1 1
5 Screw, Socket Head (3/8-16 x 2-1/2") 1 1
6 NLA - Screw, Socket w/ Patch (M6 x 1 x 35mm) 1 1
7 Bushing (3/8 x 5/8 x 1/2") 1 1
8 Screw, Set Socket, Flat Point (5/16-18 x 3/4") 1 1
9 Washer, Flat (3/8 x 11/16 x 1/16") 1 1
10 Washer, Nylon (3/8 x 3/4 x 1/16") 1 2
11 Nut, Lock (M6 x 1mm) 1 1
12 Locknut (5/16-18) 1 1
13 Locknut, Low Profile (3/8-16) 1 1
Instruction Sheet, Footrest Assembly 1 1

NOTE: A -Includes items 2 - 14.




